TR 3044 B 48 &R& ERR304E5 A 58 #5t ER30E6 A

# W M= XA L M= XETELE # = XETELE = XATELE #H = XATELE XETELE

kg % kg % kg % kg % kg % %
BRI L RNL 17,359 91.2 17,359 91.2
AR O—X/\ L 46,063 116.4 46,063 116.4
BB IIE —I\L 509 112.4 509 112.4
N E 63,931 108.2 63,931 108.2
BRAO=7Y—t— 10 125.0 10 125.0
BREIZIITIE)—E—D 161 171.3 161 171.3
BRI F—)—— 1,968,099 92.0 1,968,099 92.0
N E 1,968,270 92.0 1,968,270 92.0
BHEAR—> 45,266 89.5 45,266 89.5
BEO—RR—y 0f ——— 0| ———
B ag —~_A—ay 0f ———- 0] ——
N E 45,266 89.5 45,266 89.5
& &t 2,077,467 92.4 2,077,467 92.4
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2 A H = AT L H = X ETELE M= X AL M= X ATELE = X AT L M= X ETELE
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TR31E1A 13 R&t ERE31E2R 2R H5t ER31E3A EEN
# W B = XA L ¥ E XETELE ¥ E XETELE B E XATELE HE XATELE B E XETELE
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